aaaaaaaa

RB472304
RB492304













1200 mm







~a

N//
N ﬁ £1009% V4 |
0 = [— [— _H__
J ——

ﬁ £1009% VY
O = —




min.100 mm

914 mm

2134 mm ... 2164 mm

762 mm

& min.610 mm
\/

25,4 mm

y
—d/

L1 =L2

SN

G %"




762 mm

395 mm
635 mm 364 mm
3 mm 3 mm
II II
L U 756 mm
g
\ 115°
\
\
830 mm \
\
N 90
AN
N
~ C
~
~ — —
79 mm
‘ 914 mm \
459 mm
635 mm 428 mm
3 mm 3 mm
|l 908 mm 1
115°
\
\
980 mm \ 90°
\
\
N
N
N
~N
~
~
~ - —
79 mm

ARy







4x15 [Hmmb 6x
5%60 = 4x
6x31 % 4x
4x15 [H]M&mb 8x
4x15 KDW 42x
4x15 @m&m 6x

11



12






14



15



16






T30

J@=>0p [ CEO

L/

18




19



20



21



22



23



24






26



27



28






—>34

30






&)
T[T
HIF
1111
1 U F

32



33



| @O M @ )0




RA460000

I E"\ Bx_1g) 1
E: 2x()):b 1x

M5x16 Dmmmmw 28x

QO

1x

I g
RA 460000
36
gy
I
O
5" < b < 6'/4" ul
40 (16 mm < b < 160 mm) RA 460013
H
i >65% H
O

35



RA 46000

= S —— e va—

36



37



M5x16

(©) | mmm

16X

38




1
=

e

)
E]
L=

—>44

A. ]
T,

=
—

©0) @Qx

39



5" <b < 6'/4"
(16 mm < b < 160 mm)

ol I = ey m—r—
8

40

| RA 460013]




UN

12X

M5x16 DWWM

) i\

)

J

e

L=

41



M5x16

(©) | mmm

16X

—\ R —




©OE0)

43



|
[

-

ull
o)

1

J

~

1 “E—

SN

e,
h X

o= Y

Q=10
Q=0

44

(




45



46



S S A

Oy
))»"))))))) S
))))))) ) =
D)\ N 0))))))‘\

1

>o1lmm

105mm
NSNS S v
7
7 5 /
? 254 mm ?
7 v
Z 1 £51Tmm ?
Y #
7 608 mm 7
/1 v
=
T =

> D) ~
9 -
0 "o Ol
0 N
@)19)») Tl
D)) 0
“h.MMMM\\O Doy,
&f\@% - 9&\\\
N =9

5x60

D 4x

6x31

S

Dl

4x15

(©) (o=

47




Fa)
T
T

AT
| S
E
‘\‘\‘\‘\‘\“““““‘\“ )
G & w o % w © n 6 % % @ & & @ % @
Ks
=

| ]
~— 3 mm 3 mm —=H—
I I

\

2127mm ... 2156 mm

762mm / 914mm ‘
I |
[ I
S
I -

3 mm 3 mm

48



49






51



\\\\\\\\\\\\\\\\\



19 mm

38 mm

53




54



55



56



> 102 mm

T VTR

TR T
.

|||||||||||||||||

23 mm

57






59






61



62



63



lSmm

4x15

30" (762 mm)
36" (915 mm)

min. 10x
12X

64




4x15 Pruics =

- —<qp)

=
N

65




66



67



¢3mm
3mm r t\ 3mm
<]

68



69



\\\\\\\\\\\\\\\

70



71




\

\

\

72




T20 @

73

|
[

\‘\
G % @ w @ @ w &

‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\
L S S
B
P
E
T







4x15 KDW 10x




76



=

)

Y/ 77
T e

77



/

78



79



80



777240\

81



82









85



86



87



Gaggenau Hausgerate GmbH
Carl-Wery-StraBe 34

D-81739 Miinchen
www.gaggenau.com

GAGGENAU

XX

8001132051 (9808)



